FulF = v 7 A

V3=1.732, ¥30=5.4771 £ LT, ROEZERDHLZEL,
(1) V3000 (2) 0.0027 3 %

2] ZOMWIZERLEL,
(1) V40—4x AR L 725 L O AR x DEE T TRDR I,

x:

(2) VIB0x LD KO AR x OEEZ /NS WEIZ 3 >EX &,

x:

(3) o I28 msdEsry 2% kO A RB X DI E TS TRDRE W,
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ROBVDIZEZRE L,
(1) x=V6—-20n&t%, x*—4x+3DfE%ERKDLIW,

(2 x=4—6DLx, x*—8x+11 Dz RDA X,

(3 x=1H2, y=1—20L &, xX’+xy+ )y DfizRkDREN,

J5+1 DBMERNEa, INIEDED ETEHEE, ROBWNZEZHS,
1) bEBAEHNERTHRLEID,

(2 ab+Ta—7b—b>DExEKDRE S\,
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B E R 1

~—/p\—

ROBNIZEZ R EL,
(1) V3=1.732, Y30=5.477 & L C, V7.5 Dffiz kb7 &\,

@ P g R RO S, L, (3=1.782 LT 5,

ROBNZEZHEEL,
(1) Va32x NS L 72D X 5 72 AR x O Z /NS WIEIZ 8 DEX A X1,

X =

(@) 35X BEEH L 72 % & O A0 B x DR RIS,

X =

B 2F7-oAKKal STFTF-OHARKDIZHONT, a :b=3:4ThV, Ja+bD
EREREE b X, a, bOEEKRDARI W,
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[1] ‘oMLIzBEzEEL,
(1) x=V2—4D&x, x*+8x+6 DEERDARI,

@ x=V5—1, y={6+10L%, Xy—x—xy’+yDflizRdARI,

(3 x+y=+v14, x—y=VI0DE X, x*+ y*OffizRDI IV,

2] ‘OBMLIZBEZEEL,
(1) GOy ZatT5HEE, 3a° F12a DfEZERDR S,

(2) 82 OEHE S H a, INEESED LT AHEX, a® —2ab+b*—2a+2b +1
DIEZ RO 72 X0,
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PR 3
AN
1] V2=1.41, ¥3=1.13 £ % & %, V0. 135 DEEDETRLAESL, =L, BAO
EENEEIHERBAEALT, ME2HETONVRTEZILSL,

ROBNZEZHEEL,

1 x :@@& X, 4x°+10x +13 OfEZERD 72 S\,

(2 2x+y=3/3, x+2y=3J20r &, x'— P OEERDLE,

(3] V8 &V21 migiE R EEhEha, beThEE V6 %a, bERAVERTRLE
AN
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LY,

(x, n)

WG@/
BEORDTRABZHR, F ED I BTESIT
TBEEEZD, I-12L, EHYESTRE
FERELZEFFESLDEL, FhARVENH-
THEENWEDETH, CDEE, YRBZES
(19 B5AETMEY HEHMRDEELY,
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1] ®oBMLIZEzEELL,
(1) V70=8.367 & LT, V17.5 Dfiz KD/ E W,

@ A8 - g o sia sk s, EEL, 2=1.414 L5,

2] ‘OMWIZBEREEL,
(D V96x MEEH L 725 X 5 72 AAKx DIEZ /NS VIFIZ 3 SBEE 2 &,

x:

(2) VBI—B5xWHARE LD L RHARE x DEAZ TR TRDZR S,

¥ =
B) x, nlFARMET A, IxT—15=nKVio L X, (x, n)OHAETTRD
7R EN,

(x, n)=
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ROBVDIZEZRE L,
1) x=2—10rx, x*+2x +4 DffizRD72I,

@ x=V7T+V5, y=NT—bDLx, x>+’ —4xy DEZRDREN,

(B x—y=V2, x+ty=l6mnrx, x’+y’OfEERkdiE,

ROBVDIZEZ R E L,
(1) 16D NS Ea LT E, o’ —4DffiERDARS,

(2) V8 LV45 D/ S EFNF va, bET5HEx, V10 Ha, bEHWERTE
L7 &0,

J10=
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13 F 5410

~F 5N FI M~
/ﬁ\
(FHF =7 mHE
e

[1]@ 54.77

2] x=1,6 9 (@ x=6 24, 54
(8) x =21, 84, 189, 756

Blw20-85 @1 5

(40 b=y5-2 @20

/ﬁ\
LN

[ 27385 (@ 12

[2J0) x =3, 12, 27
(3) a=84, b=112

(2) 0.05196  (3) 2.165

2 x=24

[ -8

(2 —6 (3) 12

[2]1) 3

//ijxir\\
T—m—
P110

0.37

2D 13—v6 (@3

abt5a+2b +10
;

(2) 6—442

[4] (x, m)=(@, 5), (10, 11)

W
1881
[z
1o, BEBEELTEZD L LW,

LIREMH S 35, WIZ1DERDVD2, 3I1Z
ESIZONTEZ D, 2, 3ITEZDHEAIF2D

EHEI U2 DEDOEL LN TH B,
PIF, 2, 3I2E0a%sflE> hTHELITT 5,
[i] 2oL bRICEEMESHE
2, SILHEMES LT 5L, Kol 410K
FAEEDO2EY, 2, 3ITHEEM-TY,
otz 4 IZITRNFO 280,
b, 2T 2+2=4GE"Y)
[i] 2, 3Bz Dzl >BEEe
212, BICHAEMY ETDL, HoTu 4l
RO 1@y, 2128, 3ICHFEHE-TYH,
ol 4 ZI3RD 1@, 2hn, 2T
1+1=2G&E"Y)
LT, 1oaOFEWHITR, &, #E 3@V
HDHDT, 3X(i+ii)=3XxX4+2)=18GE")

—_—
188 F AR

—~—n—

[1]a) 41835 (2 14

[2J0) x=6, 24, 54 (2 x=3, 6
@ (x, n)=@4, 1, 8, 7

[Blns @16 ()4

@646 © ab+6a;—2b+12
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